21140 Boom Arm

21140.300.55 black

pos.  description art.-no. gty
1 swivel head 3/8" 02.40.430.55 1
2 rubber washer 03.21.160.55 2
3 locking knob M8 01.83.980.55 1
4 washer g 8,4 mm 03.11.525.01 1
5 knurled knob M6 x 12 mm 01.82.828.55 1
6 carriage bolt M8 x 30 mm 03.07.530.25 1
7 aluminum threaded washer 3/8" 03.31.550.15 1
8 plastic locking spacer 01.86.615.55 1
9 locking nut M6 03.31.635.00 1

10 knurled knob M6 x 16 mm 01.82.833.55 1

11 cable clamp 01.85.960.55 1

-11/09-

:)

(

SPARE PARTS MICROPHONE STANDS

SM
21140


https://www.canford.de/products/53-772
https://www.canford.de/products/53-894
https://www.canford.de/products/53-742
https://www.canford.de/products/53-893
https://www.canford.de/products/53-722
https://www.canford.de/products/53-799
https://www.canford.de/products/53-736

	Page 1

